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PART - A (10 x2:20 Marks)

Answer ALL Questions

L Define Stack Pointer.

2. What are tl.ie advantages of memory rnapped I/O over IiO mapped liO?

3 " Define machine cycle.

4. Compare closely coupled and loosely coupled configuration.

5. List the advantages ar-rd disadvantages of parallel communicatiou
serial comrnuuication.

6. Why is lnernory interfacing required?

7. How to set 8051 in idle mode?

8. Illustrate the CJNE instruction.

9. List the 8051 interrupts with its priority.

10. Brief the function of SM2 bit in the SCON register of 8051 .
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PART - B (5 x 13 : 65 Nlarks)
Answer ALL Questions

II. a) With a neat block diagram, expiain the architecture of 8086 t-1'K2'col

Microprocessor.
OR

b) Explain about Intemrpt and Interupt Service Routine in 8086. l-t.K2.cot

12. a) With neat diagratr explain the minirnum modes of operation of 8086. 13.K2'co2

OR

b) Discuss about the multiprocessor configuration of 8086. t-t.K:.(o:

13. a) With a block diagrarn design how 8255 functions in diflbrent modes to 1'l'{-l'(.(r-l

accornmodate different kind of I/O devices.
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OR
b) Explain how 8253 timer functions in diff'erent modes with necessary 1.i.K.l,co-l

diagrarn.

14. a) Explain in detail about the architecture of 805lmicrocontroller with t-t,K2.coL

neat diagram.
OR

b) Write the available special function registers in 8051.Explain each t],n,co{
register with its format and function.

15" a) Illustrate the serial communication in 8051, with its special function t3.K2.cos

register.

OR
b) What ar"e sensor interfacing and extemal memory interfacing? Explain. t3,K2,co-

PART - C (l x 15: 15 Marks)

16. a) Write the algorithtn and assernbly language program for Traffic Light t5.K-t.co6

control system with necessary diagram.

OR
b) Draw a diagrarn to interface a stepper motor with 8051micro controller t5,K.t,co6

also write an 8051 ALP to nrn the stepper motor in both forward as
reverse direction.
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